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I could have thought — %910 7RI 2YPT2 295 INWY ONw 9129
That if he transgressed all of them in one unawareness, etc.

OVERVIEW

N1 ' teaches us in a X013 that we derive 'maxS» pY»on for naw from &Y
wX 1wvan. However if the 770 (would not have written WX 1yan XY, but)
would have (only) written "\ 0°7277 728 (from which we derive the ©v"%
M>oRY1), we may have thought that there is no mMaRS» P71 and no matter
how many max>» he did w2 (even if he did all max5» v"%) he is 21 only
one NXvA 127p. Our MdOIN discusses this XX M7 that there is no P70
MR,

nooIN asks:
-‘,751'\5 NN No9 )12s~] "y Y 89370 NYN 09370 0931 NPT NI 19 ON NN

It is astounding! If indeed it is so (that even if he did all the m>X>7 in one
0%yn7 he is only 2»n one j27p [as the X3 assumes now]), why was it
necessary for the 7105 to enumerate thirty-nine MoXo1 by writing® 29127

Q92757 TR RIM2T5T (since there is seemingly no relevance to the amount of MaxY», for
one is 211 only one 277 no matter how many MaX7» he transgressed)?!

N1B0IN answers:
— MIVN 1INV MR WY 595 NIINY TH987 91919 U

And one can say; that it is necessary for the 7710 to enumerate thirty-nine
M>oRY7 (even though you may be only 21 one 1277 if they were done a%vna

71X) because there are certain MaXY» which are not prominent noX?», and

one may have thought that they are not included in the 708772 MOX -
— 1197 2NNNY MIANTN 11N 1NTIDT 1IYNPYND NN TPIVYIN)

Therefore the enumerating was necessary to inform us that all thirty-
nine categories of work are considered n>x%», for one to be liable if he
transgressed them.

mooIn responds to an anticipated difficulty:

! max9n p12°1 means that each 79X%» (2X) is separate and distinct from the others, so that there is a nXon 277
for each 179897 a8 which was done 79X%72 DAY NAw NTI2.

% See X, (27p™) Nw where the 77N writes regarding Naw that "X M WX 21277 79X, The word ™27
means (at least) two 0127, the additional '77 indicates a third 127, and the word 77X is X*7vn»32 thirty six,
plus the three of 01277; these refer to the thirty-nine naw Max (see 0127 7"7 "wA).
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—>NANR 99 Yy 29N 1NN DIYNAT Y P57 MANIN /1T 1PNINNM 1751)
However, from our mw» in 7173 593 (which states) forty nsx®» less one,
we can properly infer that one is liable for each 7oX%1 even if they were

done TR 2%ya -
— *NY11a 91919 93197 1999 NIPINY 7098 1IN N9

For otherwise (if there is only one 211 for doing all the nmoX%n), there
would be no necessity for the 7w to mention the number of NM2X%7 since
he already enumerated all of them specifically.

nooIN asks:
— thb NOIN NI IRDT YNRYN (3,097 PN 1}:?5‘1 742> 22 ) nYP INIMm

However, the >''7 has a difficulty; for later in 91177 P79 it seems that this

enumeration of 2°0277 79X comes to differentiate the max9» maxr and cause

one to be 21 for each 72X separately -
— AN DYPNA NTINN 5529 2950137 N1 DNN MINT

For the X 1) asks there, ‘do you mean to say that 529 holds one liable for
a 77790 when it is performed 7n& 0%via with the 28, but this cannot be -
— 915 D991 NON 09291 D927 9IIN 229 NINM)
For 521 taught in a Xn>12 the 109 states 299277 798 297277 29727, etc. that
this refers to the thirty-nine mo&>».” This concludes the citation from that X3,
— MINVN PIPINY NN NON KT NI 99NN 7299 29141 *0nn 090992 w9
And s"w9 explained there that this is the question, since the
enumeration (of 0°1277 79X) is only for differentiation for nXwm; that one is

21 a nRwvn for each 7OR -
— 515 1YY 1N NV AN DIPNA NTHNN 2HNT TNYT XPYD IN)

3 The mawn later (%,3v) enumerates all the thirty-nine n1oX%» and concludes -0m 2°Y27R NIDROM MAR 19X 1
nnR. We derive from the fact that the 71w» mentioned the number of NMoX?» that one is 217 for each 7oXn
even if they were all done 71X 07¥m2. However according to what noon just answered that the reason for
enumerating the N1OX71 (in the 771N) is to include those which are not Ma1wn, perhaps that is also the reason
why they are enumerated in the 73wn, so how can we derive naR?» P12°n?!

* In the P05 where the individual max?» are not mentioned, it is just that the total amount of nMax>n are
alluded to (with 01277 1798), we can say that the 770 wanted to be sure that we include even the n1aRon
which are not mawn. However in the mwn all the maxon (including the not mawn) were already
mentioned; the only reason to give the total of thirty-nine is to teach us that one is 21 for each 79X
separately even if they were all done 7n& 02¥yna.

> 27 taught there (¥,7%) that if one throws from a 7";77 to another 7" passing through a *"71 he is 2°m. 27
Xir said in the name of PXWw that *27 was 2nn two N1127p one for [the 72877 2X of] X% (when it flew
from the >";31 and landed in the 1"7717) and one for [the 77720 of] 701077 (when he threw it from the 1"737 into
the *"71).

% pma7 .
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And if it would enter your mind that one is 287 29p»2 77918 291, the

770 should have mentioned more than just thirty-nine! Therefore it is evident
that there can be thirty nine MXvn but no more than thirty-nine, so how could >27 be 2nn
for 701577 (which is 777910) ar7 22 (which is 7R¥Y7). This concludes >"ws.

mooIn concludes his question:
— 1PYNYNY NIN NOIN NI NI»INT 1YY N1 290

However according to what we explained previously that the
enumeration does not come to teach us NMaXY1 ?17°1, but rather to inform
us -

— 5152 7599 1IN XY ©AYY 29NNNY MANN MIYN 179197
That all the thirty-nine mM2X?» are mawn that one is liable for
transgressing them (but not for moX?» P9°m), the X3 is not asking

anything at all! There is no indication (from the w97 of 27277 0°727) that there is 72N
MAaRoA.

MDOIN answers:
— NND912 15 NIN DT PNYS 199395 AN

And it is the view of the °''2 that the text here reads as it does in the

NN9Io] -
— 9583 7Y YN YI¥AN KY N 103 %29 '0nn XNt

For we learnt there a Xn=2 (in the Xn%°>») that 1'"9 states, why does the

770 write WX 1 van 8 (do not burn fire), since the 7n already forbade doing

7oX7n, and making a fire is (certainly) a 779871? The answer is -
— "MmaNYm 079 MaYY 1Y 3990 NN KIY IR 9V YN NP MINIY r9Y

Because it is written 7w 7P (referring to 0°7277 79X), from which I may
understand that one is not 2% unless he transgresses all thirty-nine

MIORYA, therefore -
— 99191 98P WIINA 90D NN

The 7710 teaches us by writing 99221 w92, etc. that one can be 21 even for
doing one 7OX%1. The &n?°2n continues from there as in our X3, concluding that we

71 xpoD 5 PI0D (719) 2P RN,

¥ It is this change in X073 which the *"3 is referring to. In our X723, we might assume that the P05 of 7%
0°1277 teaches that there is only one nXun even if one transgressed all the n1ax%1 v"% (and similarly if one
transgressed one or more N1IR71 there is always only one nXwrm); however in the Xn?°>n we might assume
that the P105 of 02377 77X teaches that one is not 21 any nXun unless he transgresses all Noxo»1 v'"5. See
‘Thinking it over’.
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derive marH 7 712°1 from WX 1yan X5, This concludes the citation from the 8n%°on, and
MmooIn concludes his answer -
— 919519 NN NPT NINN 71N 19920 XY IND IN ROV

And now the understanding is that if y9pan X% would not be written, I
would have assumed that the enumeration in 0°9277 72X comes to teach
us -
— 1079 95 MAYIV 1Y DINY IN HNN HY 2991 1INRY
That one is not liable for transgressing one or two noX>», bur rather he is
liable only if he transgresses all thirty-nine nixon -
— 1YY 2393 HNN T3 DY 29NT 19391 1999597 19¥aN XY 29N 11739
But since Ya¥an X¥ is written, from which we derive that one is liable for

each 1ox9n individually -
— HNNY HNR 93 5Y 29N XIN RPNT V7INT 9005 NN N30 19 ON

Therefore we must assume that the enumeration of 2°7277 71X comes to
teach that only concerning the thirty-nine nox%» nmax, is he liable for

each individual 7oX57 -
—'NY AN DYPNA NTINN YN

But one is not liable for a axm 23pna 779N,
— AN D712 NTHINN 29NN XY 297 PANTNA 929V NN XNYM)

And now (according to this &07°3, and after 1yan XY is written) it is quite
evident in 711577 P75 that 27 is not 2>°m» for a a8 2pRa 779N

mooIn finds an additional advantage in the X073 of the Xn%°51 over our X071
— 213 5157 919 ©9270 05937 9INIY 39T MINPT XD INRND 999V 1) INN)

And it also well understood according to this X829 (of the Xn?°>n) what

the Xn»72 writes, ‘since it is written 259277 2127, etc., I would have, etc.
thought that one is not 217 unless he transgresses all the nMaxo v"7’
— 1999 MAYIY 1Y 299N IINT Y YNRWUNT XIN DI93T1NT NP TINNT yRYUNT

It is apparent from the syntax of the Xn»93, that from the very o2 of
%9277 we infer that one is not 2>°17 unless he transgresses all of them

? This seems to be the only thing the X3 of 01277 79X teaches us. It cannot mean that one must do all the
MK to be 27m; it also cannot mean that if one does a few nMaX71 he is 21 only one, because 17van X?
teaches that for each 79X%97 one is 2°°17 a 127p. Therefore 0°7277 79X teaches us that if one does all the N1oX?»
possible (all the n1ax and as many M7210 a he can) X 07v713, nevertheless he will only be 211 for nXvn V">
because one is not 2>°11 for a 2871 2pna 7790, However if we assume our X07°3 in which 2°72777 79 teaches
that there are thirty-nine moxo», therefore even after the 770 writes 1van X2 we cannot derive from 798
0°71277 that one is not 287 DPHA ATNR 270, for the 7109 merely teaches that we must include all the "%
N1ORY1 even those that are not Mawn. [See [ MR TRA] R"wAnna.]
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(since the P05 enumerates thirty-nine) —

mooIn proves that the phrase 9120 121 9nRIw 5% indicates that the P09 is the cause for the
(mistaken) assumption:
— 9 NN KT 9NV 29 (3,7 97 DINDIT NP PI92 199

And similarly in the first pap of 2snop noon, the Xn12 there states; ‘since
it says T2 787 ®® (it (your y»n) should not be seen) -

— ©9951 13 MINTPD Yap» PRvs> 92
I would have though that he may hide the y»r or take deposits of y»rm

from gentiles since in both cases it is either not 7% (when he hides them) or not 72
(when he takes it from the gentile). It is evident that the cause of the mistaken assumption
is created by the (mis)reading of the ?109. Similarly here the mistaken assumption that he
is not liable unless he does all Max» v"? is derived from the (incorrect) understanding of
03277 79X -

— 9NV 29D 9INP INN DII9DN NV YaN

However according to our texts (where our wrong assumption is that he
will be 211 only one 127p, no matter how many nmoX%» he did), why does it

state =mNw 5% (because it said); indicating that the cause of this
misunderstanding is the reading of the 109, when in fact at this point —

109D DIVN MANYN PIYIN )Y XPOY YT 1995 Y3 591 1959N 111 393 NP INYa
Even without the o2 we would have assumed so (that there is only one
nxvn regardless of how many NOX5» one performed), as long as we did not
derive moxY» P91 from any source.

SUMMARY

MooIN maintains that the correct reading is that from the P10 of 01277 79K
we may have assumed that there is no nXvr 21°1 unless one transgressed all
the mMax5M v'">.

THINKING IT OVER

mooIn cites from the Xn?°2n that from the P05 of 0°1277 79X, we may have
thought that in order to be 2°°17, one must transgress all the N1oXn "' How
can we assume this, since we find clearly in the 770 that the Xy wwIpn was
ann 2n, for transgressing just one o821

10 See footnote # 8.
' See 1"am7 and X"20.
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